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Correct Marks : 1 Wrong Marks : 0

Data (information) is stored in computers as
Options :

1. ¥ files

2. #® directories

3. # floppies

4. % matter

Question Number : 1 Question Id : 25498942011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

31 (=) SR § & EU H ool ol gl

Options :

1.« le™

2. % SRNGEIIS

3. ¥ TS

4. % AR

Question Number : 2 Question Id : 25498942012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

is the encompassing term that involves the use of electronic platforms — intranets, extranets and the Internet — to conduct a
company’s business.

Options :

1. ® E-farming

2. ® E-procurement
3. ® E-marketing

4. ¥ E-commerce

Question Number : 2 Question Id : 25498942012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

U YD a3 o [OrGH PHUHI Bl ogadrd I & [, gaaeiHep T H - $eHe, TReMe 3R $e3e 1 SuanT AiHa g
Options :

1. = gWﬁT(E-farming)

2. & _&FW(E-procurement)

3. % gﬁW(E-marketing)

4. f%m(E—commerce)

Question Number : 3 Question Id : 25498942013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is smallest in size?

Options :

1. % PDA System unit

2. ® Notebooks system unit

3. # Desktop system unit

4. % Tablet PCs

Question Number : 3 Question Id : 25498942013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

o H9 H ue § ged |Iet 8

Options :

1. ¥ PDA Riew gfie

2. % dieged Rew gfae
3. & Sl Ried gfHe
4. % TFAC PCs
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Question Number : 4 Question Id : 25498942014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is the relatively highest unit of the memory?

Options :

1. % Gigabytes

2. % Bytes

3. ® Megabytes

4. % Kilobytes

Question Number : 4 Question Id : 25498942014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Frafefad § @ o &, §9R B eepd gar= 3o1S 82
Options :

1.« fTeg ey

2. ® § gy

3. ® TEECH

4. % fHaERcy

Question Number : 5 Question Id : 25498942015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A program that converts a high-level language source file into a machine-language file is called

Options :

1. ® translator

2. ® assembler

3. % compiler

4. ® linker

Question Number : 5 Question Id : 25498942015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T U S U Io9-WRIg HTST Hid BTed P ARIH-HINT gl H URafid 3l & 39 FHEI a1 |

Options :

1. ® TiQeR

2. % EHFR

3. #FHHIMNR

4. % fofax

Question Number : 6 Question Id : 25498942016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

With respect to Web portals, MSN stands for:

Options :

1. ® Micro Service Network

2. % Microsoft Network

3. ® Micro System Network

4. ® Micro System Node

Question Number : 6 Question Id : 25498942016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

39 Ui & TaY H, MSN &1 Juf =0 &1 82
Options :
1. ® HTSeh! WfaY Hedd (Micro Service Network)

2.« AIZHINUC Heddh (Microsoft Network)

3. & HIPI ey Aeas (Micro System Network)
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4, = rﬂ%ﬁw:ﬁg (Micro System Node)

Question Number : 7 Question Id : 25498942017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Windows Vista, which of the following tools in snipping tool bar allows a user to erase pen ink and highlights?

Options :

1. # Brush

2. % Eraser

3. % Pen

4. # Pencil

Question Number : 7 Question Id : 25498942017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Windows Vista & TATOT €1 &R &1 19 &1 ¢ SHUANTehd! (o) Bl U $eb 3R glgargey ol fiiem &1 gfaur 3darg?
Options :

1. # Brush

2. % Eraser

3. % Pen

4. ¥ Pencil

Question Number : 8 Question Id : 25498942018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is used for annotated texts, instructional guides and manuals?

Options :

1. # Wikinews

2. % Wikibooks

3. ® Wikiquotes

4. ® Wikiversity

Question Number : 8 Question Id : 25498942018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

frofafad o 9 fr afew ust @RS TRe), SrexmeTs feafRisrsll ok M fRimsit & fou Suan fevar ST 32
Options :

1. % fafe=gal

2. fafdga

3. % fafbplcy

Q

4. % fafpafdidt

Question Number : 9 Question Id : 25498942019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which file format is used to save Microsoft Windows Control Panel file?

Options :

1. % mcp

2. % cpf

3. % cpl

4. & wepf

Question Number : 9 Question Id : 25498942019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Microsoft Windows Control Panel ThTgcl G ﬂ%\_ﬂef & ]%1'@ CAGES] 'JEN] IHe BT ST fohar Sirar %?

Options :

1. % mcp

2. ® cpf
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3. % cpl
4. & wepf

Question Number : 10 Question Id : 25498942020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The term "Pentium'’ is related to

Options :

1. ® DVD

2. % Hard Disk

3. ¥ Microprocessor

4. % Mouse

Question Number : 10 Question Id : 25498942020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e wreg frad gafd 82

Options :

1. = DVD

2. % g8 b

3. & HIZDHITRTR

4. & HI3H

Question Number : 11 Question Id : 25498942021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the key combination to broadcast the open presentation to a remote audience using the PowerPoint web application in MS PowerPoint?
Options :

1. ® CTRL+F2

2. ® Alt+F2

3. % CTRL+F5

4. & Alt+F5

Question Number : 11 Question Id : 25498942021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS PowerPoint &, UTGRUTEC A§ VAN BT SUTNT HR RIS & -] b fod Geit TRdfal &l Tnia = & forg droht Taier o g2
Options :

1. ® CTRL+F2

2. & Alt+F2

3. # CTRLAFS

4. & AIt+FS

Question Number : 12 Question Id : 25498942022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In the context of a bank's ATM, what does ATM stand for?

Options :

1. % Any Time Money

2. % Automated Teller Machine

3. ® Another Transfer Machine

4. ® Automated Teller Mark

Question Number : 12 Question Id : 25498942022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e % & AT™M & e §, ATM T U &0 F1 82

Options :
1. ® Tl <I8d Bl (Any Time Money)
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2. 3ffeACS TR W= (Automated Teller Machine)
3. % IR [SIES 122 o= (Another Transfer Machine)
4. % 3ffSACS TR AID (Automated Teller Mark)

Question Number : 13 Question Id : 25498942023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The most widely used local bus is:

Options :

1. % PCI (Peripheral Component Interconnect)

2. ® ISA (Industry Standard Architecture)

3. % MCA (Micro Channel Architecture)

4. ® PCMCIA (Personal Computer Memory Card Industry Association)

Question Number : 13 Question Id : 25498942023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Jaifi TS U J TIATH B o dTel RIHT 99 T 82

Options :

1. # PCI (WA HHHC Seihae)

2. # [SA (3! WTSS AfHeRR)

3. ® MCA (IS 994 e arR)

4. % PCMCIA (THTd HUER TR HTS S8 THIRIUH)

Question Number : 14 Question Id : 25498942024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
creates multiple replicas of the data blocks and distributes them on compute nodes in a cluster.
Options :
1. ¥ HDFS
2. ® NTFS
3. % FAT
4. ® CDFS

Question Number : 14 Question Id : 25498942024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
ST (D B B3 YA ] T § 3R 3% Fawex § Hex gy W 3aikd Hrar gl
Options :
1. ¥ HDFS
2. % NTFS
3. % FAT
4. ® CDFS

Question Number : 15 Question Id : 25498942025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which chart implements Cartesian (XY) coordinate system in data plotting process?

Options :

1. # Bar chart

2. ® Pie chart

3. # Area chart

4. # Scatter chart

Question Number : 15 Question Id : 25498942025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

STeT 3fep ufshan B Ffifad # @ & 1 =1, Brdfa (@r1dfem) (xy) vomeht geifar 82

Options :
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1. % §RAC
2. % g AC
3. % gRarare
4, TR T

Question Number : 16 Question Id : 25498942026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which statement is FALSE in case of Area chart in MS Excel?

Options :

1. % An area chart displays the contribution of each value to a total while emphasizing individual values.

2. ® Stacked area is a type of area chart.

3. ® 100% stacked area is a type of area chart.

4. % An area chart uses three axes (horizontal, vertical, and depth).

Question Number : 16 Question Id : 25498942026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS Excel H TRAT T & Ty H B T HY Teld 82

Options :

1. + T TRAT 91 Jafdads gl &1 I8d od §U $d 8 Udd Hed & 3fRIeH BT UG=iH dxdl ¢
2. % WS URYT T UHR b1 TRAT A 3|

3. % 100% LTS TRAT T YHR b1 TRAT I 2|

4. % U TR A1 dH Yarsil &1 ganT efas (gieTed), dead @féswa), Tevs (S) Far gl

Question Number : 17 Question Id : 25498942027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
can be located and removed from a computer using software utilities available on the Internet.
Options :
1. # Frames
2. % Spyware
3. ® Commands

4. ® Hardware

Question Number : 17 Question Id : 25498942027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

gexAe R IUTS AeaR IRIIA BITAT R ) UMY &1 Ul I o WehelT § SR S R I gl ST abal g1
Options :

1. ® Ty

2. o WISIW

3. % HHS

4. % GIEAW

Question Number : 18 Question Id : 25498942028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Joint Photographic Experts Group (JPEG) is used to compress:

Options :

1. % images

2. ® music

3. # sounds

4. ® doc files

Question Number : 18 Question Id : 25498942028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sise W TRIUE J4 (JPEG) HT SUANT D! G (HU) B & fore foban ST B
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Options :
1.« AV
2. & TR
3. % @i
4. % Sl Bl

Question Number : 19 Question Id : 25498942029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following open-source programs was created by Linus Torvalds at the University of Finland, starting in 1991?
Options :

1. % Linux

2. ® DOS

3. ® Unix

4. ® Windows

Question Number : 19 Question Id : 25498942029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1991 q Y& foman T, friel's fayfaeerg o fom SRaTeE T gRT S 1 SUH-R XM S 7147 4T

Options :

1. % Linux

2. % f5%F SR Red (DOS)

3. #® Unix

4. & Windows

Question Number : 20 Question Id : 25498942030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is the art and science of getting web pages to rank higher in search engines?

Options :

1. % Search engine optimization

2. ® Search engine development

3. # Search engine deployment

4. % Website development

Question Number : 20 Question Id : 25498942030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

9 Uog B IR I U B & [T YIRT fobam S aTelT IR 3R T 82
Options :

1.« T SO SHTTHIS O

2. % I 3o SadUHC

3. % T 3o fow@sH<

4. % JEYI3C SaAUHC

Question Number : 21 Question Id : 25498942031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the given options is the correct full form of CPS?

Options :

1. ® Characters Per System

2. w Characters Per Second

3. ® Characters Per Scan

4. ® Characters Per Scale

Question Number : 21 Question Id : 25498942031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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frafaRad & 9 cps &1 98 gUf SFU R 32
Options :
1. ® Pyaed W Rew (Characters Per System)
2. o PGl R b (Characters Per Second)
3. ¥ PHYged W Wb (Characters Per Scan)
4. ® PYGe R Thd (Characters Per Scale)

Question Number : 22 Question Id : 25498942034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Arrange the following steps to swap your CAPS to lower case and lower case to CAPS in MS Word 2016:

a) On the Home tab, in the Font group, click Change Case (Aa).
b) Select the text for which you want to change the case.
¢) Click on the Toggle case option.

Options :

1. % b,c,a
2.% Db, a,c
3. % a b, c

4. ¥ c a, b

Question Number : 22 Question Id : 25498942034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS Word 2016 T 30 CAPS T3RHY H B 3R ASRBT CAPS H T 1 faeT & FaferiRad a=on &f Fafud H1

a) B ¢8 W, i< JU H, IS Y (Aa) R faasds o3|
b) T8 UTG 1 T DY ORI HY MY ST Igd 3 |
¢) T &Y fadhed WR faaed A |

Options :

1. ¥ b,c,a

2.%Db,a,c

3. % a b, c

4. ¥ c a, b

Question Number : 23 Question Id : 25498942035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following indents appears on the right side of the Ruler in MS Word?

Options :

1. # Left indent

2. % Right indent

3. # First Line Indent

4. ® Hanging Indent

Question Number : 23 Question Id : 25498942035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fFRafifad o A S 18T MS Word H FeR & < 3R fears 2arge
Options :

1. ¥ QUC §s¢

2. #I[EC ST

3, % Thid dIgT 53¢

4. % gfifrsse

Question Number : 24 Question Id : 25498942036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Section breaks in MS Word can be used to divide and format documents of

Options :
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1. % any size
2. ® fixed size
3. ® only A4 size

4. % only legal size

Question Number : 24 Question Id : 25498942036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS Word &, TR ST BT ITIANT St & fauiiord ((Sargs) w7 3iR wide & & for fasar o gahar 81
Options :

1. o fdit ot SR &

2. % (Af3d SMHR &

3. % $Had A4 DR b

4. % Had Y THR &

Question Number : 25 Question Id : 25498942037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following represents the complete steps to use wildcard characters to find and replace text in MS Word 2016?
Options :

1. # Navigation

2. % Navigation — select wildcards

3. % Navigation Pane — Advanced Find... — More — Use wildcards

4. ® Navigation pane — advance find & replace

Question Number : 25 Question Id : 25498942037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS Word%016 T, TR B BIES 3R R B3 & ol I HIS Baer BT IUTNT B3 & fort FRgferiad & ¥ & 91 fdd e It =Rui
ARG

Options :

1. ® Navigation
2. ® Navigation — select wildcards
3. % Navigation Pane — Advanced Find... — More — Use wildcards

4. ® Navigation pane — advance find & replace

Question Number : 26 Question Id : 25498942038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Impact printers are:

Options :

1. % noisy printers

2. ® quiet printers

3. # faster than non-impact printers

4. ® fast printers

Question Number : 26 Question Id : 25498942038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

5 5 9 31 I faRivang dug (gHde) fifey 3 Jefia 82

Options :

1.+ Tigel fifex (@8 TR (e 7Ew 9)

2. ® Hlsc fifer (U8 idargul fohar B 8)

3. % R gug e AT e §

4. % BRe fiilex @9 fpar aa §)

Question Number : 27 Question Id : 25498942039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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A computer program that sequences print jobs by temporarily storing them in buffer and sending each one to the printer when printer is able to
process it, is known as:

Options :

1. % Head bed
2. & Print bed
3. ® Brims

4. % Spool

Question Number : 27 Question Id : 25498942039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T I 1 SR U § S fife Sifed B 3rurlt U ¥ TR H TR I S0 SFHIHd Bl § R ofd fifex 8 Irferg = o
T BT 8 dl U &Y fifer R Ner 31

Options :

I. % g8 S

2. % flicds

3. % ol

4. o T

Question Number : 28 Question Id : 25498942040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which mode of communication is used in Switch?

Options :

1. = Full duplex

2. ® Semi-duplex

3. #® Tri-duplex

4. # Transient

Question Number : 28 Question Id : 25498942040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

g & forg GaR s &1 SuaT 3T o1 82

Options :

1. ¥ Hd R

2. ® 3 () Wi

3. ® TR gWidq

4. % e (sreumdh

Question Number : 29 Question Id : 25498942041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which slot provides highest video performance?

Options :

1. ® PCI

2. ® SCSI

3. ® AGP

4. ¥ PCI-E

Question Number : 29 Question Id : 25498942041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

B T Wil Ioaaq AT Ta=i Yar Hral 82

Options :

1. ®% PCI

2. ® SCSI

3. ® AGP

4. " PCI-E
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Question Number : 30 Question Id : 25498942042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Webcam is:

Options :

1. ¥ an input unit device only

2. ® an output unit device only

3. # a processing device

4. & both an input and output device

Question Number : 30 Question Id : 25498942042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

JIFITH g

Options :

1. # dd gTYc sdmédumew

2. & Hdd 33cyc scbl‘-:: SUDRU

3. % IR IueRu

4. % I I9YC 3R 3M3TYT YD

Question Number : 31 Question Id : 25498942043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Why Amplitude modulation (AM) is used for broadcasting?

Options :

1. # It has high fidelity.

2. ® It is more immune to noise.

3. # Less transmitting power is required.

4. % [t avoids receiver's complexity.

Question Number : 31 Question Id : 25498942043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FEHIRT & 1T THIciics AIGARM (AM) HT IURT 41 fabat ST 82
Options :

1. % 3g fpefrd) (faaan S= S 31

2. % U8 IR P R 3P URIE ear 8|

3. % % YR Yfad B AIGHa1 gidl g

4. + g FfiaR Y Sifeerdr &1 affd BT g

Question Number : 32 Question Id : 25498942044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identify which has to be selected from the below mentioned options to make the first letter of every sentence as a capital in MS Word?
Options :

1. ® Correct TWo INitial Capitals

2. % Capitalize first letter of sentence

3. # Capitalize first letter of table cells

4. ® Capitalize names of days

Question Number : 32 Question Id : 25498942044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS Word H, T & Udd Ugd &R & 99T (bfed) B P o1e g & A o9 3 ey o1 uai far Siran g2

Options :

1. ® Correct TWo INitial Capitals

2. % Capitalize first letter of sentence

3. # Capitalize first letter of table cells

4. ® Capitalize names of days
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Question Number : 33 Question Id : 25498942045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following does NOT appear under the "References" menu tab in MS Word 2016?

Options :

1. & Insert Caption

2. % Insert Footnote

3. ® Table of contents

4. % Mail Merge

Question Number : 33 Question Id : 25498942045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS Word 2016 H FEfRad & & 19 I YA A 29 & Hciid gl giar 82

Options :

1. # Insert Caption

2. % Insert Footnote

3. ® Table of contents

4. % Mail Merge

Question Number : 34 Question Id : 25498942046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If the font size of a text is 36 points in MS Word, then what will be the font size of the text in inch?

Options :

1. % 1 inch

2. % (.5 inch

3. ® (.75 inch

4. % (.25 inch

Question Number : 34 Question Id : 25498942046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fe; el U6 &1 BiT STHR MS Word H 36 3i% g, Al 59 H UI3 1 BI< PR T g2

Options :

1% 189

2.4 0.55d

3. % 07559

4. % 0255

Question Number : 35 Question Id : 25498942049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which semiconductor device does LED printer use?

Options :

1. ® Piezoelectric crystal

2. w Light-emitting diodes

3. # Light emitting device

4. ® Liquid crystal device

Question Number : 35 Question Id : 25498942049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

D I Jrfidrsder fEasy &1 Tas el (LED) fifex IuanT it 82

Options :

1. ® WM (Piezoelectric crystal)

2. ¥ AI3C-UHTET SIS (Light-emitting diodes)

3. # qrsc Ul fSarsy (Light emitting device)

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 13/32



10/25/21, 11:31 AM https://g01.tcsion.com/CAE/viewHtmIPDFAction.action

4. % forenlg foeed f&a1S¥ (Liquid crystal device)

Question Number : 36 Question Id : 25498942050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Symmetric cryptography algorithms are much than asymmetric algorithms.

Options :

1. = faster

2. ® slower

3. ® confidential

4. % erroneous

Question Number : 36 Question Id : 25498942050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR BT TEiiyT srmfid Taiiys 3 §gd sifie g gl

Options :

1.« s

2. % 7

3. % faygHg

4. % ot

Question Number : 37 Question Id : 25498942056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following printers is generally used for low-cost colour printing?

Options :

1. # Dot matrix

2. % Inkjet

3. # Character printer

4. % Plotter

Question Number : 37 Question Id : 25498942056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

g & QB 1 ffeR SR W HH a1 aTd I gE0r & fore IuainT e sirar g2

Options :

1. ® ST Afeay

2. W SHoic

3. % PR X

4. % WX

Question Number : 38 Question Id : 25498942057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

When you want to open "run" dialog box in Windows, which one of the following key combinations you will use?

Options :

1. ¥ WINDOWS KEY+R

2. % WINDOWS KEY+E

3. # WINDOWS KEY+F

4. & WINDOWS KEY+F1

Question Number : 38 Question Id : 25498942057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TG 3T Windows H "I STIAN Se eI A18d &, al 34 Fafafad & 3 fag gront Taier &1 SuaiT s

Options :

1. ¥ WINDOWS KEY+R

2. % WINDOWS KEY+E
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3. % WINDOWS KEY+F
4. % WINDOWS KEY+F1

Question Number : 39 Question Id : 25498942058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following features of MS Word is useful to create one document and send it to multiple people?

Options :

1. ® Table

2. % Mail Merge

3. % Bibliography

4. ® Table of Contents

Question Number : 39 Question Id : 25498942058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS Word 31 FEfifed & 9 11 4 faQivar e awrae s SR 38 & alvl &l HoH & forg Iuaih 82

Options :

1. ¥ Table (CHd)

2. % Mail Merge (ﬁﬂ If\_rf)

3. # Bibliography (fSaferaRm®!)

4. ® Table of Contents (%Em 3 m)

Question Number : 40 Question Id : 25498942068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

How many partitions are supported by the newer Globally Unique Identifier partition table?

Options :

1. ® 16

2. % 64

3.9 128

4. % 32

Question Number : 40 Question Id : 25498942068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T TS gD SHSSCHRR UM ¢ad gRT fasd faUTeH! o1 uIe fired g2

Options :

1. & 16

2. % 64

3. %128

4. ® 32

Question Number : 41 Question Id : 25498942069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
are useful for quickly creating unweighted contingency table in MS Excel.
Options :
1. ® Macros
2. ® Charts
3. % PivotTables

4. ¥ Functions

Question Number : 41 Question Id : 25498942069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS Excel T, TRT FT Y Io IMed SHTH D et 97 & forg Suaft g1
Options :

1. ® Opi
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2. % 9
3.« fge arfereTy

4. ® o=

Question Number : 42 Question Id : 25498942070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MPEG compression stores:

Options :

1. ® Compression values of Each frame.

2. % Differences between successive frames.

3. & Multiple frames' values together.

4. ® Multiple compression values of Each frame.

Question Number : 42 Question Id : 25498942070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MPEG I8 (GHITM) T LR BT 82

Options :

1. # JAP Y & JUis (W) A1

2.« BN Y & & BT R |

3. % U 1Y B3 ¥ & A B TR BT 8

4. % YW Y & 95 YUIS (W) T B TR BT 8

Question Number : 43 Question Id : 25498942071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If you want to insert current date in your MS Word document then which key combination you will prefer?

Options :

1. # Shift+Enter

2. % Shift+Alt+D

3. ® Shift+Alt+ESC

4. ® Ctrl+Alt+D

Question Number : 43 Question Id : 25498942071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS Word H, AfE 3T 307 TTSd SITaw | o ferid STeHT aTed & al 3T b Goit Taiei &l 9afid Bl

Options :

1. ® Shift+Enter

2. % Shift+Alt+D

3. # Shift+AlIt+ESC

4. & Ctul+Alt+D

Question Number : 44 Question Id : 25498942073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

RAM & ROM are generally classified based on whether:

Options :

1. # data storage is temporary or permanent

2. ® data access is random or sequential

3. ® data retrieval is quicker or slower

4. % data removal is automatic or manual

Question Number : 44 Question Id : 25498942073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

RAM 3R ROM & 3HAR TR 39 YR TR e foha ST 8:

Options :
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1. # ST YUBYT ST g1 Rt
2. ¥ ST URIY ARy AT b itdh
3. % ST TG oot a1 i
4. % 3T g Taferd a1 Ageid

Question Number : 45 Question Id : 25498942074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the laser wavelength of Blu-ray Disc?

Options :

1. % 510 nm

2. ® 450 nm

3. % 405 nm

4. ® 530 nm

Question Number : 45 Question Id : 25498942074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T e 1 doR Jaay [@Teed) fea et &2
Options :

1. # 510 nm

2. % 450 nm

3. % 405 nm

4. % 530 nm

Question Number : 46 Question Id : 25498942076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following categories of cards has one chip controlling the communication interfaces?

Options :

1. # Hybrid cards

2. ® Multi-mode communication cards

3. ¥ Dual interface card

4. % Multi-component cards

Question Number : 46 Question Id : 25498942076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fafafed o 2 g UeR & H1ef § TaR $exthy & Fafa &= arell ue o @l idt 82
Options :

1. % gRIS I8

2. # e l-HIS HRAHIHE H18

3. ¥ ST XY HTS

4. ® A-HUHC HIS

Question Number : 47 Question Id : 25498942077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Resistive touch screen contains following number of layer(s) with an electrical current running through them:

Options :

1. % two

2. ® one

3. ® three

4. # four

Question Number : 47 Question Id : 25498942077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e ca i A frat Rd 81t § 9 2 fagga ur1 yarfed 81 & et 82
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Options :
1. ¥l
2. & Udh
3. % dH
4. & IR

Question Number : 48 Question Id : 25498942078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is a nibble?

Options :

1. ® 1 byte

2. # Half of byte

3. ® 2 bits

4. % Double of byte

Question Number : 48 Question Id : 25498942078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

IBERE2INH

Options :

1. % 193¢

2.« 3t a1se

3. # 2 fgeg

4. % Q5T b NI

Question Number : 49 Question Id : 25498942079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FTP can either be used for data uploading or

Options :

1. % downloading

2. % arguing

3. ® deleting

4. ® sharing

Question Number : 49 Question Id : 25498942079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FTP &1 IUTNT ST TS B AT F fou fPar ST g aT g1
Options :

1. # S3AIS B

2. & RTY HA

3. % f3dfle HA

4. % I HIA

Question Number : 50 Question Id : 25498942080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A is an expansion card or IC for producing sound on a computer that can be heard through speakers or headphones.
Options :

1. ¥ sound card

2. #® data card

3. ® address bus

4. # data bus

Question Number : 50 Question Id : 25498942080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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TH SR W G 30T R aTa U TRIURE HTs T IC Bidl & ford Wb a1 g8 & A1 ¥ AT off Yhell 5|
Options :

1. ¥ TAES BT

2. & SEIHS

3. % TQUEY

4. ® glcTdy

Question Number : 51 Question Id : 25498942081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Video is the process of delivering a video from a server to a client.

Options :

1. % streaming

2. ® scaling

3. # gathering

4. ® downloading

Question Number : 51 Question Id : 25498942081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

foref ek  fr et aemge ao difsar ugem @t ufshan difgar FHgan gl

Options :

Question Number : 52 Question Id : 25498942084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In MS Word, pressing Ctrl+1 will create:

Options :

1. # 1.5 line spacing

2. % single line spacing

3. #® double line spacing

4. # triple line spacing

Question Number : 52 Question Id : 25498942084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS Word H, Ctrl+1 T SRTd a1 82
Options :

1. ® 1.5 A3 WRT

2. o RiT7a arg Wi

3. ® Sqq dTs WRAT

4. % fouq arga Wi

READING COMPREHENSION

Section Id : 2549894629
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 5

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number :
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Sub-Section Id : 2549894670
Question Shuffling Allowed : Yes

Question Id : 25498942062 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (53 to 57)
Rivers Of India

There is one important difference between the rivers of North India and the rivers of South India. The rivers of the north are perennial, that is,
they flow throughout the year. They are fed not only by the monsoon rains but also by the snows of the Himalayas.

The rivers of the south have no snow to feed them. The major rivers are created and fed by the rains of two monsoons, the south-west and the
north-east. Most of the southern rivers are full during and after the rainy season but as the dry season approaches, they become narrow streams.
In the summer, children can be seen playing in the dry sandy beds of the smaller rivers of the south.

But, in all other respects, especially in the part they play in the everyday life of the people, there is no difference at all between the rivers of the
north and those of the south. There are as many legends about them, they are worshipped, sung about and sung to in the same way; they serve
as inland waterways for taking goods from one place to another; engineers have dammed them to store their waters for irrigation and to produce
electricity.

Most of the people of India are employed in agriculture or in trades and industries connected with it. For agriculture we need plenty of water.
The livelihood of millions of people, therefore, depends on rivers which supply water.

So you see, up and down the country, whether it starts from the snowy Himalayas or from some hill top in the south drenched by monsoon rain,
the river is very precious to all of us. Why to us alone? From early times, all over the world, man has always depended on the river which has
served him in many ways.

In olden days, the river protected people from invaders. Even in modern times, it often serves as the boundary of a state or a region. The earliest
civilisations-- Aryan, Egyptian, Babylonian, Assyrian -- were established on the banks of rivers.

Sub questions

Question Number : 53 Question Id : 25498942063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the major difference between the rivers of North India and South India.

Options :

1. % The rivers of North India flow throughout the year whereas in the South they do not.

2. ® The rivers of North India are much longer than those of the South.

3. # The rivers of North India are worshipped as they are considered sacred.

4. ® The rivers of North India are used for transportation only during the rainy season.

Question Number : 54 Question Id : 25498942064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
What factors help the rivers of the north to be full throughout the year?

1. Most of the northern rivers originate in the Himalayas.
2. The melting snow supplies water to the rivers.
3. The monsoon rains add to the volume of water.

Which of the following is the correct option?
Options :

1. ® Only 1 and 3 are correct.

2. % Only 1 and 2 are correct.

3. #® Only 2 and 3 are correct.

4. %" 1,2 and 3 are correct.

Question Number : 55 Question Id : 25498942065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following TWO statements tell us that the southern rivers shrink in summers.

1.The rivers of the South have no snow to feed them.

2.The rivers of the South are rain-fed and swell during monsoons.
3. As the dry season approaches the rivers become narrow streams.
4.Children play in the sandy beds of the small narrow streams.
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Options :
1. ® Statements 1 and 2
2. ® Statements 2 and 3
3. %" Statements 3 and 4
4. ® Statements 1 and 4

Question Number : 56 Question Id : 25498942066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT correct?

Options :

1. ® World civilisations have grown near and around river banks.

2. # The flooded river plains are usually fertile.

3. ® Rivers are useful for transportation of goods and movement of people.

4. % People staying close to rivers do not have any means of livelihood.

Question Number : 57 Question Id : 25498942067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Engineers build dams across rivers to -

Options :

1. # prevent flooding of thickly populated areas.

2. # Duild beautiful gardens for tourists and local people.

3. ¥ undertake and promote multi-purpose developmental projects.

4. ® stop water pollution by controlling flow of industrial wastes in rivers.

Question Id : 25498942062 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (53 to 57)

HRd ! Afear

TR HRA B Al 3R o1 YR &1 fa & ol Uoh Aeayuf Sick 81 SR 3 Afeai IReArf 8, arf, 3 R a8 st §1 3= 7 bad
ARG B TR Y Sfewp fewTerd & a0 § ot Sergfef &1 st 31

e Y Afedt 3 Sl B F e H1E o e 7 1 e et oY &) A, <far-ufdm ofR SwR-yd @ aiver I s ok Rifaa
fopar STa g1 3iftrepiar <féroft Afeat svard & W gH & TR 3R 39 a1 H_1 gl & aifde oI gt 7T 1 Aigs Foidle 311ar 8, 3§ Tepiof
YRTY & STt & | TfEfal &, <féror &) o1t et & o ¥diah dd R =i ) Weld gU o off 9aha 8|

AP, 3 It A B, WRH S AT b JorHRT b1 foieft 7 I gRT 31T fhar S arell 41T €, I8 IR o1 Afedl 3R afamr &
S B SicR TSI Bl ¢ | 37 IR H P fhaciaai §, 7! Yol b1 S 2, 39 aR & d 71 91d & 3R Teh Teb THH 11 91l &; 3
THh Y I g RIM W JHE & A4 & e sfdceia & U H B Al §; o) A Riars & o ofR faoreht &1 Iare
B B o Ut B ST B & ol A R S g feu €1

YR & BT AT SN 1 TR 3R 3T IS I & Ao 81d €1 Y & forg g7 agd TR urht &t sra<adsdr gl 81 3fer,
TRAT AT bt SHTofaenT I et wR R et § S urht ot emgf wRAt B

e MY <= BT IR Y SIE01 T <, 918 98 S Icl [eHTard U [R5 o 1 GH&0T H AHYH &1 IR 9 fd) $& ugTst 1 et 9 8, 741 g4
wﬁ%agq%gm; Y 31l 8 P o ot Teaiel Tra A €Y, Ot g B, i ghen e iR ARk ovar oman €
It |

A T H, 7 7 STHAUSIRG! ¥ AN BI & B | Tg1 I 3 ey T B, I8 SfaR U o9 A1 U &7 &1 | & w0 § St
HRA B | TIY R Ty - 3=, iy, S, sReR - Afea & de iR R 31 118 ot

Sub questions

Question Number : 53 Question Id : 25498942063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

JWR YR 3R S0 YR & Afeal & ol 981 B 1 82

Options :

1. o IR URT P AT T1eT 1R Tt § Srafep afdor & 3 91 4R e} a5 |

2. % IR HRT B AT &f01 BT a1 & B! ol &l
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3. ® IR YR B Al BI Yol &1 STl g Fifds 3-8 dfa AT S & |
4. % IR YRA B! A B Had ST & Hd H uikag & o SuanT i S g |

Question Number : 54 Question Id : 25498942064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

IR B el B R I HRA H B § BRB Hae B 2

1. ifeT= It Afeat femmera & e §
2. forare areht 9t § e &1 o Bt BIE |
3. TR 1 SRR T &1 0T &1 Serd 6|

I feu U Aot 7 O o9 91 98] faweu 82
Options :

1. ® Pad 1 3R 3 TEI g

2. % Pad 1 R 2 GEI g

3. % $ad 2 3R 3 FE B

4. 91,2 33T

Question Number : 55 Question Id : 25498942065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FafiRed % 9 H ¥ g1 5y g9 9a1d & [ afal Afear 1l # Rigs S §

1. feor &t Afeal & v P faw Big 9% e B

2. Gléror Y ATt A & SR SRS ¥ HRalt § 3R Tgd W gl 8
3. O € Y 1 Hraw Fordier o §, Al Yol 4Rt a9 S B
4. B} piof yRTSN B ¥fiel 9o W o= FaAd o

Options :

1. ® HYT1 3R 2

2. % HYT2 3R 3

3. @ HYT 3 3R 4

4. % HYT | 3R 4

Question Number : 56 Question Id : 25498942066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fFafafea 7 @ o 91 sy g8 T8 82

Options :

1. % T3y Pt Srarell &1 e 9 & R & U g 8|

2. ¥ §1G dTell el & A 31 IR R IUSTS, 8ld 8

3. % JAH S URTE 3R ATl & MaTH & forg Afear Suanh g1

4.« T} & oI Ig aTd ST b U SATSHfdehT T His T1Y T8l glal g

Question Number : 57 Question Id : 25498942067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sttt A Afedl &1 sty o1 fAwtor &t fosam

Options :

1. % T STETET aTct &3 H 916 I Ah+ o [l |

2. % Ted! 3R RIFHG At & oY Yer Ierm o1 At A & for

3. « FE3L XU AT URESHISH Bl Y HA 3R 91T o & g

4. % i H SN HeR & HaTe B Fad R STd Ugwul &I A & forg|

QUANTITATIVE APTITUDE
Section Id : 2549894630
Section Number : 3
Section type : Online
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Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 2549894671
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498942051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Evaluate the following expression. (rounded off to nearest integer)

3942 +64+3=2°
Options :

1. %29

2. ® 32

3.9 21

4. ® 17

Question Number : 58 Question Id : 25498942051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fafafea e & ga & | (Rdean guife - a% gof &)

3942 +64+3=7
Options :

1. & 29

2. ® 32

3. %21

4. ® 17

Question Number : 59 Question Id : 25498942052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The compound interest earned by Suresh on a certain amount at the end of two years at the rate of 8% p.a. was X 1,414.40. What was the total
amount that Suresh got back at the end of two years in the form of principal plus interest earned?

Options :

1. #39414.40
2.9 %9914.40
3. % 39,014.40
4. % 38,914.40

Question Number : 59 Question Id : 25498942052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

8% AT STl Bt a= T &1 I8 b 3fd T IR GRT Hf Tehgfeg ST 2 1,414.40 UT| JRY B &1 I8 & 37 H Ao SR <1l & =9 o
O e areh Sa M fava &t

Options :

1. % 29,414.40

2. %39,914.40

3. ® 29,014.40

4, % 28,914.40

Question Number : 60 Question Id : 25498942053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

I'he speed of a boar when mavelling downsweam 15 32 Km'hr, whereas whea mavelling npstream it is 25 kv, Whar is
thie speed of the boat in still watae?
Options :
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1. % 27 ke

5 % 24 knvhr
3. % 31 Emvh

4. @ 3 Ekmvh

Question Number : 60 Question Id : 25498942053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

M S T I S T A ST 2 kmhr o S e e d o s oo
oF T 28 km.-‘hrﬁaﬁgv:!ﬁrﬁmﬁrﬂﬁﬁmﬁr#‘?ﬁ

Options :
1. & 27 kmhr

> ® 28 kmhr
3 % 31 kmv'hr

4w 30 kmifr

Question Number : 61 Question Id : 25498942054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Arun ordered 15 chapattis, 4 plates of rice, 6 plates of mixed vegetable and 5 ice-cream cups. The cost of one chapatti is X 5, one plate of rice
is ¥ 50, one plate of mixed vegetable is 75 and one ice cream cup is ¥ 20. How much amount did Arun pay to the cashier?

Options :

1. ® 3850
2. ® 795
3. ¥ %825
4. ® 2750

Question Number : 61 Question Id : 25498942054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

BT 15 U, 4 W TTad, 6 Te R Fooll 3R 5 ATSIHIH HY BT 3SR fST1| T IuTd &1 HI1Hd 2 5, I9d B TP We 2 50 DI gl
TRf3d eolt 1 U Wie 3 75 SR U SHTSHBIH HY X 20 BT g1 30T 3 HRIR B fha- R &1 Y71ar fopam

Options :

1. % 2850

2. % 3795

3. #3825

4, % T 750

Question Number : 62 Question Id : 25498942055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

I'he ratio betwsen the three angles of a quadrilateral is 3 ;5 © 9. The value of the fourth angle of the quadrilateral is 71,
Whar b5 the difference between the largest and the smallest angles of the quadrilateral?
Options :
1 ® B27

5 % 106"
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Question Number : 62 Question Id : 25498942055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T & O U F A e 2:5:9 | s & A w oA 710 ) oE F owew o AR

Options :
. % 827

2. % 108"
3 o 102°

4 % B2°

Question Number : 63 Question Id : 25498942072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In how many different ways can the letters of the word 'DETAIL' be arranged in such a way that the vowels occupy only the odd positions?

Options :
1. ¥ 36
2. ® 22
3. % 48
4. ® 42

Question Number : 63 Question Id : 25498942072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

g 'DETAIL' P 3eRT I fham SelT-3aT a¥ich! ¥ 39 dRe TafRyd far off obdT § 1 370 TR Hhad [avH RIH R g2

Options :
1. ¥ 36

2. ® 22
3. %48
4. % 42

GENERAL MENTAL ABILITY AND REASONING

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

2549894631
4

Online
Mandatory
6

6

6

Yes

1
2549894672
Yes

Question Number : 64 Question Id : 25498942033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Which of the following options will come third, if all of them are arranged alphabetically as in a dictionary?
Options :

1. ® Pillow
2. ¥ Pilgrim
3. ® Pigment
4. % Pile

Question Number : 64 Question Id : 25498942033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e ot TTec Y U Yea !X & IR JUIhH H aryd fovar o 8, af Fufafad § 3 o a1 faswed dR RIM W smamm
Options :

1. # Pillow

2. w Pilgrim

3. ® Pigment

4. & Pile

Question Number : 65 Question Id : 25498942047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Instruction: Study the following arrangement carefully to answer the question below.

MIESRB3AK7£#9SUDIN46%FH2@8W

Question: How many such consonants are there in the above sequence each of which is immediately followed by a number and immediately
preceded by a vowel?

Options :
1. ® Nil
2. % One
3. % Two
4

. # Three

Question Number : 65 Question Id : 25498942047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fafifed sraw o eaFyde U 3R 39 - 38 T Uy &1 I S |

MI1ESRB3AK7£#98UDIN46%FH2 @8 W

IRIad a1 H ford- U oM § foHe gid Ued T WR g 3R ¥ d1g U Sl 67
Options :
1. %
LR TS
|
Eic

VS I

Question Number : 66 Question Id : 25498942048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Find out which of the following letter-series follows the given rule:

The number of letters skipped is NOT uniform.
Options :

1. & BFINRV

2. % DGJMPS

3. ¥ MORTXY

4. ® PRTVXZ

Question Number : 66 Question Id : 25498942048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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a1 oY o 1 It sreR-sjRaer few T4 w7 are et 8
BIS T 31&R| BT T- TP IHH 81 3

Options :

1. = BFINRV

2. ® DGJMPS

3. % MORTXY
4. % PRTVXZ

Question Number : 67 Question Id : 25498942059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Select the alternative with the most appropriate description about these three words.

Nissan : Toyota : Isuzu

Options :

1. # These are cities in Japan.

2. #® These are ports in Japan.

3. % These are automobile manufacturing companies from Japan.

4. # These are tele-programmers.

Question Number : 67 Question Id : 25498942059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

39 dH T3l & Tay H oy 3 faavur ard faw ey o1 T +¥
9 : Trer : 39

Options :

1. % YO b A |

2. % Y SYH H S8 B

3. Y TUE & SfeAasd FAf sl g |
4. % JTH-UITR g

Question Number : 68 Question Id : 25498942060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In the following question, some words are given which are related in some way. The same relationship is present among the words in one of the
four alternatives given under it. Find the correct alternatives.

France : Spain : Germany
Options :

1. # Japan : China : Turkey

2. % Sri Lanka : Japan : England
3. % Iraq : Kuwait : Iran

4. # Canada : California : Mexico

Question Number : 68 Question Id : 25498942060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

frafeiad Uy 8, 7o T wes fou MU & S fopelt U 7 wep- g | et €1 - fou 70 R faped! & @ v o, U Y wreg S adip &
Taiftrd €1 et fadhed &1 uar sy

i W ; SHA
Options :
1. ® SO I @

2. WW:W:%
3. ¥ WP : Pad : A
4. WW:W:W

Question Number : 69 Question Id : 25498942061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
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Correct Marks : 1 Wrong Marks : 0
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In each of the following, four words have been given, out of which three are alike in some manner, while the fourth one is different. Choose out

the odd one.

Options :

1. ® King

2. # Queen

3. # Bishop
4. % Minister

Question Number : 69 Question Id : 25498942061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T fapeul & IR eg feT U § omH T i fordl) TR @ T B §, Wef Teh 379 i g1 39 e ot uga e |

Options :
1. #® 0ol
2. % M
3. % o=y (ymfens)
4. Tl

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 70 Question Id : 25498942008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TRIPS and TRIMS are the terms associated with:

Options :
1. % IMF
2. ¥ WTO
3. % [IBRD
4. ®% DA

Question Number : 70 Question Id : 25498942008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

o (TRIPS) 3R foTF (TRIMS) et fh e Twaifira €2

Options :

1. ® 3IETATD (IMF)

. SIS (WTO)

. % IESIRST (IBRD)
% IESIT (IDA)

I

Question Number : 71 Question Id : 25498942009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which river has been declared as 'National River' of India?

Options :

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action

GENERAL AWARENESS

2549894632
5

Online
Mandatory
6

6

6

Yes

1
2549894673
Yes
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1. ¥ Ganga
2. ® Yamuma
3. ® Kaveri

4. ®% Brahmaputra

Question Number : 71 Question Id : 25498942009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

R TR Y R Y Tt T S R 3
Options :

1. & T

2. % gHAl

3. % PR

4. % §eIqd

Question Number : 72 Question Id : 25498942010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following does NOT possess a specialised conducing tissue for transport of water and other substances in plants?
Options :

1. ¥ Marchantia

2. ® Marsilea

3. ® Cycas

4. % Fern

Question Number : 72 Question Id : 25498942010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fafeed & &F A el § Ul ok 3 yerdf & RIMiaRUr & fort te faRiy g SHas 781 g 82
Options :

1.« grffear

2. & wrfiferan

3. ® BlhY

4. % T

Question Number : 73 Question Id : 25498942032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following sectors of Indian Economy contributes largest to the Gross National Product?

Options :

1. ® Primary Sector

2. ® Secondary Sector

3. % Tertiary Sector

4. ® Public Sector

Question Number : 73 Question Id : 25498942032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

YRR g1 o1 &1 9T &, Tl AP I H Haifd TG UG Bl 872
Options :

1. ® Urfies &=

2. * fgdfius &=

3.« Jdu® &

4. % GrASH® &

Question Number : 74 Question Id : 25498942075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Who among the following Urdu poets was invited to the second and third round table conference?
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Options :
1. ® Faiz Ahmad Faiz
2. ® Josh Malihabadi
3. # Muhammad Igbal
4. ® Firaq Gorakhpuri

Question Number : 74 Question Id : 25498942075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

iR & 9 frg 3¢ ®fa &1 guR SR TR M A Iied & farg st fova mar um

Options :

1. ¥ B9 361G Bl

2. & SR TetgTaTet

3. e Hq P dId]

4. % O TREYL

Question Number : 75 Question Id : 25498942082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Hydrolysis of sucrose generates:

Options :

1. ® glucose only

2. ® glucose and galactose

3. % glucose and fructose

4. ® glucose and lactose

Question Number : 75 Question Id : 25498942082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

IS & BT SIerRrg & fuferfed & 3 o I gt 8
Options :

1. % B IPbIl

2. % DI 3R IS

3. o TP 3R ool

4. % TIDHI 3R AdeIS

Mock

Group Number : 2
Group Id : 2549892973
Group Maximum Duration : 5
Group Minimum Duration : 5
Show Attended Group? : No
Edit Attended Group? : No
Break time : 1
Mandatory Break time : Yes
Group Marks : 0
Is this Group for Examiner? : No

English Mock
Section Id : 2549894633
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
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Section Marks : 0

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 2549894674
Question Shuffling Allowed : No

Question Number : 76 Question Id : 25498942085 Question Type : TYPING TEST

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,
socializing, decision making, independent and responsible living and more. It aids the overall development of a child and children have
fun during this process as they get to explore new arenas.

Restricted/ Unrestricted : Unrestricted
Paragraph Display : Yes

Evaluation Mode :

Keyboard Layout : Inscript

Show Details Panel : Yes

Show Error Count : Yes

Highlight Correct or Incorrect Words : Yes
Allow Back Space : Yes

Show Back Space Count : Yes

Actual

Group Number : 3
Group Id : 2549892974
Group Maximum Duration : 15
Group Minimum Duration : 15
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 0
Is this Group for Examiner? : No

English Typing Test
Section Id : 2549894634
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 2549894675
Question Shuffling Allowed : No

Question Number : 77 Question Id : 25498942083 Question Type : TYPING TEST

Drinking enough water can support skin, muscle and joint health. Water helps the body cells absorb nutrients and fight infections.
Drinking a few glasses of warm or hot water each day might offer even more benefits. Although there is little scientific research on the
benefits of drinking hot water, alternative health professionals says that hot water is an easy way to improve health. While drinking
water of any temperature can support overall well being, drinking hot water is thought to provide a range of additional health benefits.
People have consumed hot drinks for thousands of years. Medical literature is filled with stories of how hot water can improve health
but researchers have only just begun to look into the benefits of drinking hot water. Here you will find the top benefits of drinking hot
water. Healthier digestion. When a person does not drink enough water, the small intestine absorbs most of the water consumed
through food and drinking. This causes dehydration and can make it more difficult to have a bowel movement. Chronic dehydration
can cause chronic constipation. This constipation can make bowel movements painful and may cause other problems including
hemorrhoids and bloating. Drinking hot water helps to digest food faster than drinking cold or warm water. It reduces the risk of
constipation by supporting regular bowel movements. Body detoxification. Natural health professionals say that hot water might help
the body detoxify. When water is hot enough to raise the body temperature of person, it can cause sweating. Sweating removes toxins
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and can help clean the pores. Improved circulation. Hot water is a vasodilator, meaning it expands the blood vessels and improves
circulation. This can help muscles relax and reduce pain. Although no studies have directly linked hot water to increase improvements
in circulation, even brief improvements in circulation can support better blood flow to muscles and organs. Reduced pain. Hot water
improves circulation and may also improve blood flow, particularly to injured muscles. No research has directly linked hot water
consumption to pain relief. However, people routinely use heat packs and hot water bottles to reduce pain. Consuming hot water may
offer some internal pain relief but it is important to note that heat can also reduce swelling. Reduced stress. A soothing cup of hot water
may help people manage stress and anxiety. An older study found that consumption of hot liquids such as tea and coffee could lower
stress and reduce feelings of anxiety. The study argues that some of the effects are due to caffeine but that the warmth also played an
important role in the improved mood of participants. Drinking hot water will not cure any diseases but as long as the water is not
burning, the risks are minimal. So people who already enjoy hot water or who want to try a simple method for improving their health
should feel assured that they are getting benefit from it. As more people adopt this health strategy, more research may become
available.
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